Parts List
N

- J
YAMATO CORPORATION YAMATO TECH CORPORATION

1775 S. Murray Blvd. #112-19425 Langley By-Pass
Colorado Springs, CO 80916 USA Surrey, B.C. V3S 6K1 Canada
Tel (719) 591-1500 Fax (719) 591-1045 Tel (604) 533-2338 Fax (604) 533-0827

1/2 YCO0-1053-03-02




PB-200 Parts List

~N
ITEM PART NUMBER DESCRIPTION QTY
1 CHA-1585-200110 Keypad 1
2 CHA-1585-200100 Front Mask 1
3 Screw, Tapping, Pan Head, M3 x 10 4
4 End, Indicator, Left 1
5 Housing, Indicator 1
6 CHA-1585-200170 Knobs, Adjustment 2
7 Holder, Indicator 1
8 Rod, Retaining 2
9 Jack, AC Adaptor 1
10 End, Indicator, Right 1
11 Screw, Tapping, Pan Head, M2 x 5 2
12 Battery Pack, Rechargable 1
13 CHA-1585-200120 PCB, Display 1
14 CHA-1585-0DS310 AC Adaptor (Not Shown) 1
15 CHA-1585-200150 Cable, Connecting 1
16 Platform, SS 1
17 Screw, Hex Head, Flat, Countersunk, M6 x 20 4
18 Plate, Upper 1
19 Standoff, A/D PCB 4
20 Housing, A/D 1
21 Screw, Pan Head, M4 x 5 2
22 CHA-1585-200140 PCB, A/D 1
23 Jack, Foot Tare Switch 1
24 Spacer, Load Cell 2
25 CHA-1585-200130 Load Cell 1
26 Screw, Pan Head, M5 x 17 4
27 Hex Nut, M5 4
28 Plate, Lower 1
29 CHA-1585-200160 Foot, Adjustable, with Locknut 4
30 Screw, Pan Head, M4 x 6 1
31 CHA-1585-200180 Switch, Foot Tare 1
- J

2/2 YCO0-1053-03-02



